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ZO-O/5 - 35—3%/7/

Submit in duplicate to State of New Mexico . Form C-122
appropriate district office. Energy Minerals and Natural Resources " Revised October, 1999
See Rule 401 & Rule 1122 0Oil Conservation Division ‘
2040 South Pacheco i
Santa Fe, NM 87505 :
MULTIPOINT AND ONE POINT BACK PRESSURE TEST FOR GAS WELL
Operator OGX RESOURCES LLC Lease or Unit Name LON(E? NOSE COM.
Type Test Test Date Well No.|
Initial  [] Annual [ special 4/21/07 . 1
Completion Date Total Depth Plug Back TD Elevation Unit Ltr - Sec - TWP - Rge
Csg. Size Wt, d Set At H20 Perforations: County
5LN 18# 4.276 11250 From: 11169 Tor 11250 EDDY
Tbg. Size Wt. d Set At Perforations: N Pool
27/8 895 2.25 11184 From: To:
Type Well-Single-Bradenhead-G.G. or G.O. Multiple Packer Set At Formation
SINGLE 11184 ATOKA
Producing Thru Reservoir Temp.°F |Mean Annual Temp. °F Baro. Press.-P, Connection
TBG 185.6 @ 11184 T 60 13.2
L i3 Gg T%CO, %N, TS Prover Meter Run Taps
11184 11184 0.617 N/A 3.068 FLG
FLOW DATA TUBING DATA CASING DATA Duration
N N A N A O T
Size Size oF oF °F ow
SI 6000 24 HRS
1 3 X 2.000 591 17.1 41 950 24 HRS
2
3
4
5
RATE OF FLOW CALCULATIONS
No. COEFFICIENT Pressure Flow Temp. A Super Compress Rate of Flow
(24 Hour) v h,P, P, Factor Ft. |Gravity Factor  F, Factor F pv Q. Mcfd
1 21.32 101.64 604.1 09741 1.273 1..101 2,959
2
3
4
5
No. P, Temp. °R T, Z Gas Liquid Hydrocarbon Ratio DRY Mecf bbl.
1 1.43 501 1.38 0.825 AP 1 Gravity of Liquid Hydrocarbons DRY GAS Deg.
2 Specific Gravity Separator Gas 0.617 XXXXXXX
3 Specific Gravity Flowing Fluid XXXXX N/A
4 Critical Pressure 671 PSIA. PSIA
5 Critical Temperature 362 R. R
P, 6013.2 P2 361586
No.| p? P, P’ p2p,? | () P’ = 1031 (2) P2 "= 1o:
; 1043.1 1088 35070.6 ch i sz Pc2 _ sz
3 AOF = Q P} "= 3.051
4
s 79825 p’-p,’
Absolute Open Flow 3,051 [ Mefd @ 15.025 {Angle of Slope 0" 45 | stope n: 1
Remarks: NO FLUID PRODUCED DURING TEST
Approved By Division: Conducted By: Calculated By: Checked By:
Sonic Petroleum Services BM BM




v LUnPAND  UGA KEDUURLES LLC  LEASE :LONG NOSE COM. WELL X0, 1
UNIT : SECTION : TOWNSHIP
*oL 11184 B 11184 L/R 1 G/GMIX 0.617
€02 N2 ¢ 28 : DATE  :4-21-07
d: 2.25 Fr :0.013315 GH : 6900.5 RANGE
VoL 1 2959 PSIR 1 : 963.2 RESV.TEMP 185.6
VoL 2 PSIR 2 :
YOL 3 BSIA 3 SHUT-IN PR= 6013.2
VOL 4 PSIA ¢4 ¢
PCR 671
TCR 362
LINE | RATE 1 | | RATE 2 | | RATE 3 | | RATE 4 |
I | | I | | | |
| C1sT | CaND | CIST | 2D | ST | Cad | CIST | o
l I l | I ! l |
1 o | 2 95 [ 2.959 | 0.000 | 0.000 | 0.000 (| 0.000] 0.000] 0.000
2 0m | 4 534 | 534 | 534 | 534 | 534 | 534 | 534
30 T8 | 645 6 | 645.6 | 645.6 | 645.6 | 645.6 | 645.6 | 645.6 |  645.6
4 T 589 8| 589.8 1 589.8 | 589.8 | 589.8| 589.8 | 589.8 |  589.8
PR {est) | A4 | 0,00 | | 0.00 ) I 0.00 |
5 B(est) | 0 88| 0.863 | ERR | ERR | ERR | ERR | ERR |  EBR
b TZ | 518.0 | 508.9 | ERR | ERR | ERR | ERR | ERR | ERR
7 GE/T | 13,321 13.559 | ERR | ERR | ERR | ERR | ERR | ERR
§ e | 1.648) 1.663 ) ERR | ERR | ERR | ERR | ERR | ERR
9 1-e-§ | 0.393| 0.399| ERR | ERR | ERR | ERR | ERR |  ERR
10 Pt | 963.2 ) 963.2 | 0.0 | 0.0 | 0.0 ] 0.0 | 0.0 | 0.0
11 pt2 /1000] 927.8 | 927.8 | 0.0 | 0.0 | 0.0 | 0.0 ] 0.0 | 0.0
12 Fr  ]0.013315 |0.013315 10.013315 {0.013315 {0.013315 {0.013315 }0.013315 {0.0133157
13 Fc=Fr1Z2 | 6.898] 6.777| ERR | ERR | ERR | ERR | ERR | ERR
14 Fegm | 20,41} 20.05 | ERR | ERR | ERR | ERR | ERR | ERR
15 L/H(FcQn)| 416.6 | 402,1| ERR | ERR | ERR | ERR | ERR |  ERR
16 Fu {163.7974 |160.2738 | ERR | ERR | ERR | ERR | ERR | ERR
17 Pw2 | 1091.6 | 1088.0 | ERR | ERR | ERR | ERR | ERR | ERR
18 Ps2 | 1798.8 | 1809.1 | ERR | ERR | ERR | ERR | ERR | ERR
19 Ps | 1341,2) 1345.0) ERR | ERR | ERR | ERR | ERR | ERR
20 P | 1152.2| 1154.1| ERR | ERR | ERR | ERR | ERR | ERR
21 Pr | 1.72 | 1.712 ] ERR | ERR | ERR | ERR | ERR | ERR
22 Tt ] L3 163 ) 1.3 1.63) 1.63 ] 1.63 ]  1.63 | 1.63
23 1 | 0.863] 0.863| ERR | ERR | ERR | ERR | ERR |  ERR

[| Pc=6013.2 Pc2 = 36158.6 #||
[
Il P2 = 927.8  Pw = 1043.1
[l 0.0 ERR
[l 0.0 ERR
[l 0.0 ERR
1 247 T0-4
||Pc2-Pui= i Pwl = 1088.0
[l ERR ERR
Il ERR ERR
H ERR ERR
I
1 n = 1.000
H
[|Pc2/(Pc2-Pw2) = 1,031
[l ERR
I ERR
H ERR
H
j1{Bc2/Pc2-Pw2ln = 1.031
[l ERR
[ ERR
I ERR
1
Il ROF= 0 3.051
[ ERR
Il ERR
[ ERR
H
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PC*2 - PW*2=THSNDS

100,000

OGX RESOURCES LLC
LONG NOSE COM. # 1

n=1.000

deg. = 45

PC2 = 361586

10,000

[AOF = 3051 MCF

1,000

O=MCFE'DAY

10,000




